ITEM NO. PART NUMBER DESCRIPTION QTY.
1 VPSO53427 CLARIFIER TANK 1
2 VPSO53427-WP FRP WEIR PLATE 7
3 VPSO53427-SB FRP SCUM BAFFLE 6 D
4 VPSO53427-WSP WEIR SPLICE PLATE 7
5 VPSO53427-WPW WEIR PLATE FRP WASHER 21
6 VPSO53427-SBSP FRP SCUM BAFFLE SPICE PLATE 7
7 VPSO53427-SHRTBFL FRP SHORT SCUM BAFFLE 2
8 VPSO53427-LOWER SCUM PLATE BRACKET-LOWER 26
9 VPSO53427-UPPER SCUM PLATE BRACKET-UPPER 26
SPACE FOR SCUM "
R OUGH. OMITSCUM 10 [HW00200891 3/8-16 X 2" FHS -3165S 52
BAFFLE AND BRACKETS. 11 HW00200302 3/8 FLAT WAHSER - 316SS 104
12 HW00200018 3/8-16 HEX NUT - 316SS 104
13 HWO00200892 3/8-16 X 7" STUD ANCHOR - 316SS 73
14 HWO00200890 3/8"-16 X 1-1/4" HCS - 316SS 52 C
NOTES:
1)GEL COAT COLOR TO BE WHITE, WITH UV INHIBITOR
ADDED.
B
evpc 10478 Ridge Rd.,
UNLESS OTHERWISE SPECIFIED: NAME DATE Medina NY 14103
Toll Free: 888-290-9522
DIMENSIONS ARE IN INCHES DRAWN LVR = 2/9/2021 FIBERGLASS Phone:  585-735-9668
TOLERANCES: .
FRACTIONAL * CHECKED TITLE:
ANGULAR MACH* BEND £ oo WEIR & SCUM BAFFLE ASSEMBLY A
TWO PLACE DECIMAL  *
THREE PLACE DECIMAL * MFG APPR. Project:
ISOMETRIC VIEW INTERPRET GEOMETRIC QA.
PROPRIETARY AND CONFIDENTIAL | TOLERANCING PER:
SEARETRISERSENSS  Matenial <notspectieds’ A\ [T | SZE DWG. NO. e
REPRODUCTION I PART OR AS A WHOLE | PN 1“ / & i B 53427 A
WITHOUT THE WRITTEN PERMISSION OF \:Ii/ ““‘“—mﬁ___h__‘

- MER COUMPOUNDS, LLC 18 ponorscaebrawng  3rd ANGLE PROJECTION  SCALE: 1:36 Weight 19782.15SHEET 1 OF 6
8 7 6 5 4 3 2 1



EL. 647.50ﬂ\

THIS SPACE FOR SCUM TROUGH, OMIT
SCUM BAFFLE AND SUPPORTS. ﬁ
17"
19" (TO BE D
(TO BE VERIFIED) Hll'Sna— 8L"
R100" (TANK) VERIFIED) ¢ REF. 4
, @15'-3 1/2"
INSIDE SCUM
BAFFLE
DIAMETER
3
A 9
C
8
2
SECTION A-A
SCALE1:14
]
@\/ i/ 5 /@ °
I
O’/
. H SECTION J-J
N L 3/"8-16 X 2" FHS SCALE1:10
@ 77 H Y / (WEIR PLATE ATTACHMENT DETAIL)
' SN
7 | 4~ ———3/8" COUNTER SINK HOLE
@/ i}< 3/8"-16 HEX NUT, 3/8" FLAT WASHER
\\ e VPC 10478 Ridge Rd.,
- UNLESS OTHERWISE SPECIFIED: NAME DATE Medina NY 14103
Toll Free: 888-290-9522
DIMENSIONS ARE IN INCHES DRAWN LVR = 2/9/2021 FIBERGLASS Phone: 585-735-9668
DETAIL E FRACTIONAL+ cHecKeD TITLE:
SCALE1:2 mgl;LLAA%é\A&%mALBTD £ | ENG APPR. WEIR & SCUM BAFFLE ASSEMBLY A
THREE PLACE DECIMAL * MFG APPR. Project:
INTERPRET GEOMETRIC Q.A.
PROPRIETARY AND CONFIDENTIAL TOLERANCING PER: coMm Ts:
SECTION B-B EAMCETE OO Materal <notspectied> () TT | PWe-NO N
SCALE 1:34 IO P 05 A a1 LT T B see
Miswit i DO NOT SCALE DRAWING 3rdeLE PROJECTION = SCALE: 1:52 Weight 19782.15SHEET 2 OF 6

8 7 6 5 4 3 2 1



7 6 5 4 3 2
42 NOTCHES SPACED EQUALLY
AROUND CLARIFIER
15
[e] n
90 14=+ 16 , 1,
2
l n
25
] 1
[ | ]
7. | 7. 1
e S —— — Pl - — > _—n
é n
898 —
FRONT VIEW
§ n ]
8
1 n
{1+ -
23
l n
13
DETAIL C
SCALE1:4
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN INCHES DRAWN LVR 2/9/2021
TOLERANCES:
FRACTIONAL * CHECKED
ANGULAR: MACH*  BEND *
TWO PLACE DECIMAL  # ENG APPR.
THREE PLACE DECIMAL * MEG APPR.
INTERPRET GEOMETRIC QA.
PROPRIETARY AND CONFIDENTIAL | TOLERANCING PER: COMMENTS
THE INFORMATION CONTAINED IN THIS  MATERIAL e
DRAWING IS THE SOLE PROPERTY OF POLYESTER RESIN '“\ I"l P "
Virtual Polymer Compounds, LLC. Al —( _
REPRODUCTION IN PART OR AS A WHOLE FINISH ‘
WITHOUT THE WRITTEN PERMISSION OF =
Virtual Polymer Compounds, LLC IS R s
PROHIBITED. DO NOT SCALE DRAWING 3rd ANGLE PROJECTION
7 6 5 4 3 2

N

NI

SIDE VIEW

TITLE:

FRP WEIR PLATE

Project:

SIZE DWG. NO.
B 53427

SCALE: 1:8 Weight 9.96

1

. 10478 Ridge Rd.,
Medina NY 14103
Toll Free: 888-290-9522

FIBERGLASS Phone:

585-735-9668

REV
A

SHEET 3 OF 6



6 5 4 3 2 1
@ (@] ®
12"
®
— | ———— l"
26%" 13— = 4
3/8" COUNTERSINK
ill
827¢
3.
D8 - 123~
@x) ——— :
(COUNTERSINK)
o T
+ .
9”
Lll n
\)m 12 12
@ pa—
1;”
® o | L 72
I |
1 1 % ——
9" e |— e |— 4
15 15
END VIEW

FRONT VIEW

SHORT SCUM BAFFLE SECTION
(INSTALLED NEXT TO SCUM TROUGH)

o) -
7 1
1 § n
10478 Ridge Rd.,
% UNLESS OTHERWISE SPECIFIED: NAME DATE Medina NY 14103
Toll Free: 888-290-9522
DIMENSIONS ARE IN INCHES DRAWN LVR = 2/9/2021 FIBERGLASS Phone: 585-735-9668
TOLERANCES: TlTLE
FRACTIONAL * CHECKED :
ANGULAR: MACH® BEND £ o\ ooo FRP SCUM BAFFLE
TWO PLACE DECIMAL  + g
DETAIL D THREE PLACE DECIMAL * MFG APPR. Project:
SCALE1:4 INTERPRET GEOMETRIC QA.
PROPRIETARY AND CONFIDENTIAL  TOLERANCING PER: COMMENTS:
THE INFORMATION CONTAINED INTHIS  MATERIAL o e
DRAWING IS THE SOLE PROPERTY OF ' pOLYESTER RESIN i(--u:\\l — " SIZE DWG. NO. REV
Virtual Polymer Compounds, LLC. ANY | REL } = = A
REPRODUCTION IN PART OR AS A WHOLE FINISH o / L J B 53427
WITHOUT THE WRITTEN PERMISSION OF \\___J Toememy
pROMT | Compounds e S ponorscaEbrRawnG  3rd ANGLE PROJECTION  SCALE: 1:8 Weight 12.84  SHEET 4 OF 6

PROHIBITED.

6 5 4 3 2 1



oo|w
oo|w

T
+
L/
N
1
+
N

R

) 1L c

" 12”
A 7i 9
2%" . 1.
4
. I 3,
1L | | | 8 FRONT VIEW SIDE VIEW
2 1 ——— =)
f — | | ;.. 15” %
8 | B % 1 n WEIR FRP WASHER
- 6” 4 —— 1§ll« 3n - (SCALE 14)
1
FRONT VIEW " e —— —— "
FES R SIDE VIEW 6 4
B
FRONT VIEW SIDE VIEW
(SCALE: 1:4)
WEIR SPLCE PLATE
SCALE: 14
SCUM BAFFLE SPLICE PLATE
. 10478 Ridge Rd.,
UNLESS OTHERWISE SPECIFIED: NAME DATE Medina NY 14103
Toll Free: 888-290-9522
DIMENSIONS ARE IN INCHES DRAWN LVR = 2/9/2021 FIBERGLASS Phone: 585-735-9668
TOLERANCES: TlTLE
FRACTIONAL * CHECKED -
ANGULAR: MACH$ BEND * | .\~ )\ooe SPLICE PLATES & MOUNTING BRACKET A
TWO PLACE DECIMAL  *
THREE PLACE DECIMAL * MFG APPR. Project:
INTERPRET GEOMETRIC QA.
PROPRIETARY AND CONFIDENTIAL  TOLERANCING PER: p——
THE INFORMATION CONTAINED INTHIS  MATERIAL - i
S_I?IA\/\?:;ICT IS THE: SOLE PRC()jPES_T(\:( OAFNY 'i(_‘::\'l — " SIZE DWG. NO. REV
REIEPuRaODfJé:I]Ce)rN IE?KE’?%F?ASAWHOLE FINISH I' \:/’ / L_ - ‘ B 53427 A
WITHOUT THE WRITTEN PERMISSION OF '\\___J Tememg
Xﬁgﬁ:;g?er compounds, LLC 8 DO NOT SCALE DRAWING 3rd ANGLE PROJECTION = SCALE: 1.6 Weight SHEET 5 OF 6

8 7 6 5 4 3 2 1



8 7 6
D5
on :f]ﬂ
173" |
PLAN VIEW " 3.
16 8
S el
% 3”
6”
14%" i
1 n
1§ - L 3"
(TYP)
* ! 17 N —"
3.
~— 6y —
RIGHT VIEW
FRONT VIEW
SCUM BAFFLE MOUNTING BRACKET -UPPER
O
o &
;.. e —
PLAN VIEW
/3.
4 3
] @ §
| I/l
8”
4”
1”
1 n
— =—15"(TYP) % o
FRONT VIEW RIGHT VIEW

SCUM BAFFLE MOUNTING BRACKET -LOWER

N,

ISOMETRIC VIEW

ISOMETRIC VIEW

7

6

4 3 2
-—- ]J
PLAN VIEW
3/8"-16 HCS, FLAT
WASHER, HEX NUT
1.
H 224
aml amnl
[ \IZ | e L\
77 i - A
[ |
[l | Q
[ !
[N |
J Q
11, I 7 —
1 676 MIN = RIGHT VIEW
3 FRONT VIEW
—— 82" MAX —=
BRACKET ADJUSTMENT
MIN / MAX

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
Virtual Polymer Compounds, LLC. ANY

SCUM BAFFLE MOUNTING BRACKET ASSEMBLY

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL £

ANGULAR: MACH* BEND *
TWO PLACE DECIMAL *
THREE PLACE DECIMAL *

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL
316 SS

REPRODUCTION IN PART OR AS A WHOLE FINISH

WITHOUT THE WRITTEN PERMISSION OF
Virtual Polymer Compounds, LLC IS

PROHIBITED.

4

DO NOT SCALE DRAWING

3

NAME DATE
DRAWN LVR = 2/9/2021
CHECKED

ENG APPR.

MFG APPR.

QA.

COMMENTS: .
A i
I"\\\_:-; / E“‘“-——-___ ‘

3rd ANGLE PROJECTION

2

| VPC 10478 Ridge Rd.,
Toll Free: 888-290-9522

TITLE:
SCUM BAFFLE MOUNTING BRACKET

Project:

SIZE DWG. NO. REV
B 53427 A
SCALE: 1.6 Weight 0.85 SHEET 6 OF 6

ISOMETRIC VIEW

Medina NY 14103
FIBERGLASS Phone:

1

585-735-9668

A



